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NEW QUESTION 1
Which of the following computing devices would be used to provide a centralized means to distribute services to a group of clients and usually possesses a role on
a LAN?

A. Laptop
B. Workstation
C. Mobile phone
D. Server

Answer: D

NEW QUESTION 2
The sales department needs to keep a customer list that contains names, contact information, and sales
records. This list will need to be edited by multiple people at the same time. Which of the following applications should be used to create this list?

A. Database software
B. Word processing software
C. Conferencing software
D. Presentation software

Answer: A

NEW QUESTION 3
For a disaster recovery exercise, a company wants to ensure customer data is recovered before operational data. This is an example of:

A. redundancy.
B. replication.
C. prioritization.
D. fault tolerance.

Answer: C

NEW QUESTION 4
Which of the following are the basic computing operations?

A. Input, process, output, and feedback
B. Input, output, storage, and feedback
C. Input, process, and output
D. Input, process, output, and storage

Answer: D

NEW QUESTION 5
Joe, a developer, is writing a program in which he needs to store a number that changes over the duration of the program’s run. Which of the following would Joe
MOST likely use to accomplish this?

A. Loop
B. Variable
C. Constant
D. Function

Answer: B

NEW QUESTION 6
Which of the following relational database constructs is used to ensure valid values are entered for a column?

A. Schema
B. Permissions
C. Constraint
D. Column

Answer: C

NEW QUESTION 7
For which of the following is a relational database management system MOST commonly used?

A. Building flowcharts
B. Storing information
C. Generating reports
D. Creating diagrams

Answer: B
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NEW QUESTION 8
Which of the following operating systems do not require extensions on files to execute a program? (Select TWO).

A. Windows 7
B. Windows 8
C. UNIX
D. Windows Server 2012
E. Android
F. Linux

Answer: CF

NEW QUESTION 9
A help desk technician encounters an issue and wants to find out if a colleague has encountered the same issue before. Which of the following should the
technician do FIRST?

A. Check Knowledge Base.
B. Search local logs.
C. Research possible theories.
D. QUESTION NO: users.

Answer: A

NEW QUESTION 10
An administrator grants permission for a user to access data in a database. Which of the following actions was performed?

A. Data correlation
B. Data manipulation
C. Data gathering
D. Data definition

Answer: D

NEW QUESTION 10
Malware infections are being caused by websites. Which of the following settings will help prevent infections caused by Internet browsing?

A. Turn on private browsing
B. Delete browsing history on program close.
C. Notify when downloads are complete.
D. Configure prompting before downloading content.

Answer: D

NEW QUESTION 14
Ann, the president of a company, has requested assistance with choosing the appropriate Internet connectivity for her home. The home is in a remote location and
has no connectivity to existing infrastructure. Which of the following Internet service types should MOST likely be used?

A. Fiber
B. DSL
C. Cable
D. Satellite

Answer: D

NEW QUESTION 17
Which of the following would be used to send messages using the SMTP protocol?

A. Document sharing software
B. Instant messaging software
C. Conferencing software
D. Email software

Answer: D

NEW QUESTION 20
Joe, a user, finds out his password for a social media site has been compromised. Joe tells a friend that his email and banking accounts are probably also
compromised. Which of the following has Joe MOST likely performed?

A. Password reuse
B. Snooping
C. Social engineering
D. Phishing

Answer: A
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NEW QUESTION 22
Which of the following would work BEST stored as a flat file rather than stored in a database?

A. Contact list
B. Movie theater locations
C. Directions to doctor’s office
D. Store inventory

Answer: A

NEW QUESTION 26
Which of the following is MOST likely used to represent international text data?

A. ASCII
B. Octal
C. Hexadecimal
D. Unicode

Answer: D

NEW QUESTION 27
A program needs to choose apples, oranges, or bananas based on an input. Which of the following programming constructs is BEST to use?

A. Variable
B. If
C. Datatype
D. Comment

Answer: B

NEW QUESTION 32
Which of the following is a value that uniquely identifies a database record?

A. Foreign key
B. Public key
C. Primary key
D. Private key

Answer: C

NEW QUESTION 35
A systems administrator wants to return results for a time range within a database. Which of the following commands should the administrator use?

A. SELECT
B. INSERT
C. DELETE
D. UPDATE

Answer: A

NEW QUESTION 40
The IT department has established a new password policy for employees. Specifically, the policy reads: 

Passwords must not contain common dictionary words

 Passwords must contain at least one special character.

 Passwords must be different from the las six passwords used.

 Passwords must use at least one capital letter or number.
Which of the following practices are being employed? (Select TWO).

A. Password lockout
B. Password complexity
C. Password expiration
D. Passwords history
E. Password length
F. Password age

Answer: BD

NEW QUESTION 41
Which of the following statements BEST describes binary?

A. A notational system used to represent an “on” or “off” state
B. A notational system used to represent media access control
C. A notational system used to represent Internet protocol addressing
D. A notational system used to represent a storage unit of measurement
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Answer: A

NEW QUESTION 43
A game developer is purchasing a computing device to develop a game and recognizes the game engine software will require a device with high-end
specifications that can be upgraded. Which of the following devices would be BEST for the developer to buy?

A. Laptop
B. Server
C. Game console
D. Workstation

Answer: B

NEW QUESTION 45
Ann, a user, is experiencing difficulty getting her IP-based security camera to function at her house after a rain storm that caused a power interruption. The camera
has an LED light indicating it has power. Which of the following is MOST likely the problem?

A. The power interruption caused the camera to malfunction.
B. Ann has a compatibility problem with the camera.
C. A firmware update needs to be applied to the camera.
D. Ann’s Internet connection and wireless router are still down.

Answer: D

NEW QUESTION 48
A technician is installing a new wireless network and wants to secure the wireless network to prevent unauthorized access. Which of the following protocols would
be the MOST secure?

A. WPA
B. SSID
C. WEP
D. WPA2

Answer: D

NEW QUESTION 49
A technician is troubleshooting a problem. The technician tests the theory and determines the theory is confirmed. Which of the following should be the
technician’s NEXT step?

A. Implement the solution.
B. Document lessons learned.
C. Establish a plan of action.
D. Verify full system functionality.

Answer: C

NEW QUESTION 54
Which of the following is an advantage of installing an application to the cloud?

A. Data is not stored locally.
B. Support is not required.
C. Service is not required.
D. Internet access is not required.

Answer: A

NEW QUESTION 57
......
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